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Pushback(value):
if size = capacity then
allocate newArray|[2 * capacity];
for i from 0 to size - 1 do
| newArrayli] = arraryli;
end
free array;
array = newArray;
capacity = 2 * capacity;
end
array[size] = value;
size = size + 1;
Algorithm 1: Add a new item to dynamic array
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let ¢; = cost of i’th insertion

i—1 ifi - 1is a power of 2
=1+ :
0 otherwise

n [log3 |
Zizlci:n—kz $ _O(n):O(l)

n n n




¥ O3S K ol 5 by lo <)) 1P s

S e oSGl b 0,80 b s S G 03 S g5 ol o b sy Jos o ol STN]
Gle K oS A S o b e e (S WLl e s a8 (08 S (i £ 5 S
Sl S s Al o) 4 sl 0l 51 (S 5 0as BLS) wur o sl K g 5 3.8 S|

eSn sslial sad o 53 sl Sl 4T el

size: 4 capacity: 8

arr size: 4 capacity: 8
alblc|d
alblc|d
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